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Computer Science/A

Basic purpose of Microprocessor is fo :
{A) Store informaton {13} Printdata
(C) Compute data {13 Serd an c-mail

2. Nowadays, the most attractive physical layer media used for high speed, low error rate and geapraphically
large nefworks is
(A) Satellite Media (B) Opiical Fiber
{C} Wireless Networks (M) Capper Media

3. Which picce of hardware protects the resources of & private network from users of other networks !
{A) Cacheserver (B) Proxy server
(C) Firewall (D} Rouer

4, Inthe below statement, is a protocol.

hitp : /fwwwipuac.in

{A) waw (B} .acin
(C) hitp () puacin

5. Astep by step procedure used to solve a problem nsing computers is known as ;
(A) Operating svsten (BY  Application Program
() Systemn Software () Algorithm

f.  An Unsolicited commercialimon-commercinl e-mail is known as ;
(A} Usenet archive E-mail (B} Spam F-mail
(C)  E-mal with virus (D} Fanlty e-mail

7. Which of the following fanction prototype is perfectly aceeptablein “C4++' 7
(A} int Function{int Tmp= Show(}); (B foat Function{int Tmp=Show(int, floatjy
(C} float=Show(int, float) Function{Tmp); (@) Both (A)and (B}
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A is a network that connects computers in a limiled geographic area, such as a school

computer laboratory, small office; or computers at home.
{A) Local areanetwork (LAN) (B) Wide arca netwoark (WAN)
() Partial arca network (PAN) (I} Boundless area network (BAN)

You want to use multiple operating system lilee linux, windows ete. concurrently on single machine, The
best way (o achieve this s :

(A) Makemachine multiple bootable like using GRUB
(B} Use virtualization software like ¥ hiWaore

(C) Itismotpossibie

(13) Nime of these

Today’s desktop computers have typically ‘X" amount of main memory, ¥ speed of processor and ' 2
amgunt of hard-disk memory. Approzimately X, Y, 7 can he respectively, :

(A) 4GH, 3kHZ, I00GH (B) 4MB, 3MHz, 1000MB
{C) 4GB, 3GHz, 1000KHB (1) 4GB, 33 GHz, 1000GR

Which of the following is nol 2 hardware !
(4) Hard-disk (B3} RAM
(C) Processor [ MS-Office

. What is the meaning of putting your laptop using MS5-Windows operating system in hibernate state 7

(A) Stores open files & settings in RAM and goes tosleepmode

(B} Stores open files & seitings in RAM and wm-off the [splop

() Stores open files & scttings in Hard-disk and goes to sleepmode
(T Stores open files & settings in Hard-disk and turmn-of i the lapiop

In order to enhance performance of the computer, Disk defragmenter

{A) Consolidates parts of files Iving at different locations on computer's hard disk
B Deletes temporary files related fo Intermet

() Deletes temporary files related to backup

(D) Al ofthe above
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14, Which of the following lisis memory types from highest to lowest speed ?
(A) Secondary storage, main memory, 1.2 cache, registers
(B) Registers, L1 cache, secondary storage, main memory
(C) Registers, L2 cache, main memory, secondary storage
(D) L1 cache, registers, main memory, sccondary storage

15. Gaining ur-authorized access to a computer system would fall under which category of computer

crime ?
(A) Datatheft (B) Theftof services
(C) Destruction of data and software (D) Hacking

16. If somebody wants to see which URL's have been browsed by the user of a particular web browser,
then which of following features is the most appropriate 7

{A) History (B) Back Button
{C) Forward Button (1)} Refresh Button

17. What does a lock [B!symbol mean in the address bar of a web browser 7
(A) Itshows that current URL is locked
(B) Tindicates that the identity of URL proved by some third party
(C) Itisjustagraphical symbaol
(D) Itindicates that URL is a fake link

18. Which of the following would best fit the following description ?
“Proprietary Software is copied & given to a friend without permission of copyright owner.”
(A) Frecware (B) Pimcy
(C) Sharcware (D) Publicdomain

19. Inthe e-mail address password@gmail.com *password™ refers to:

{A) Password (B) Chient Computer
(C) User Name (D) Server Name
Computer Science/BIL-B65-A a [Turn over




20. Anoperating system ks : - |
(A} A collection of hardware components (B) A collection of input-putput devices
(C) A collection of softwere routines (D) Allofthe above

21. I a table, student, has & column ‘name’ filled with names of the students of a class and you want to lind
all students that have an “§* somewhere in its name, you can do that via this SQL command :

(A} Select * from student where pame like 5%’
(B}  Select * from student where name = '965%'
(C) Select ® from student where name like ‘$55%'
(D) Select * from student where name ='§S§'

11, AUPS:
(A} Incresses the storage capacity of a compuater system
(B} TIncreases the process speed
(C) Provides backup power in the event of a power cut
(D) Increascs 0 speed

3. Acookicisn:
(A) Technigue used tomake internet connection fast
(B) Piece of data sent fram user's web browser and stored in a wehsite
(C) Piece of data sent from website and stored in user’s web browser space
(D) Malickous code just ke vins

24. Which of the following tag in HTML & generally not written in <head> tag ?

(A) Ttk (B} Tahle
(C) Meta D) Script
15. What will be the output for following C++ code snippet
for{int F=3;1<15;i+=3)
!
m!l%d"‘}:
+Hi;
b
(AY3 6 % 12 B 3 6 &% 12 15
g g U8 1) S R (S ||
Comgmiter Science/BIL-BE5S-A 3
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Which of the following is correct sequence of stages of program development 7

{A) Write - compile - lnk - t=st {B) Write - compile - document - nin
() Write - link - complle - un () Write - compile - link - document
Which of the following binary expressions is mot correct 7

(&) (otyy=xly (B) (xtyY=xy

(C) {(XyF=xty D) (xty)=xly

The Octal system uses powers of ;

(A) 2 B) 10

(€ 15 D) 8

Digital Signatures s :

(A} Digital Code which s attached & an electronically transmitted document to verify its sender’s identity

{(B) Digital Code which is attached o an electronically transmitted document to verify its contents

() D@mlﬂuduwﬁ:hi;uﬂmhdeclﬁtmﬁmﬂymiﬁEdMMvﬂiﬁhmﬁﬂdﬁ
sencder’s identity "

(D) Scarmed Handwritien Signatures

What will be the ontput of following C++ program 7
#inclde<iostream.h> '
maing)
]

inti=§;

for{ i=0; 0; i<1D)

eout << ‘<

cont<="4% Ead';
]
(A) 38 & & B
®) End
G 2 o3 % § s T o8 A B
anve 1o F A 4 & e T e 3

31. A display is confNgured to show 65000 colors. How many bytes are needed to store the color
information for one pixel 7
tA) 4 (B 3
(cy 2 o) 1

Compuier ScienceB/L-B65-A ; [Tum gver
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With SQL, how can you insert “Kaur™ as the “LastName™ in the “Persons” table ?
(A) INSERT (*Kaur') INTO Persons (LastName)

(B) INSERTINTO Persons (LastName) VALUES ("Kaur”)

(C) INSERT INTO Persons (LastName) ‘Kaur'

(D) INSERTINTO Persons (‘Kaur') INTO LastName

Which of the following tag in HTML is used to add a row to a table ?

(A) <td>
() <tuple>

(B) <row=
Dy <t

Which of the following features will characterize an OS as multiprogrammed OS 7
(a) More than one program may be loaded into main memory ot the same time.

(b} Ifaprogram waits for certain event another program is immediately scheduled.

(c) Ifthe execution of & program terminates, another program is immediately scheduled.

(A) (a)only

(B) (a)and {b)only

(C) (a)and(c)only (D) (a), (b)and (c) anly

How can you make an e-mail link in HTML?

(A) <mail>pu@pu.ac.in</mail>

(B) <ahref="mailto:;pu@puac.in">

{C) <ahref="pu@pu.acin™ (D) <muail href~"pufpuac.in®>

Match the following :

(a) HIML
(b) HTTP
(c) ISP

(d) SMTP
(A) (aHiv)
(€) (apH(D)

(i} Protocol for sending electronic mail on the Internet.

(i) Company that charges a fee to enahle organizations to connect to Intemet.
(iii) Set of tags and related rules that are used to create web pages.

(iv) Internet standard that supports exchange of information on Web,

(bH1)  (ek(ii) (i) B) aMiv) ®HI) (i) (i
(bHiv) () () (dHi) D) (aHiii) (bHE) (©-0v) @HD)

Using the Hard Disk as an extension of RAM is a feature of :
(A) Virtual memory (B) Cache
(C) Direct Memory Access (DM{A) () Virtual Reality

Thrree of the following numbers are the same. Which one is different ?
(A) 1111101000, B) 1750,

(€) 1200,

(D) 3ES,,

]
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Which SOL stastement is vsed to update data in 2 database 7
{A) SAVE (B) MODIFY
() SAVEAS M) UPDATE

In context of SQL, what type of statement ALTER s 7
(A DCL B DDL
(Cy DML (0} None of above

With SOL, how can you return the number of records in the “"ersons™ table ?
{A) SELECT COLUMMNS(*) FROM Persons (B)  SELECT COLUMNS() FROM Persons
(C) SELECT COUNT() FROM Persons () SELECT COUNT(*) FROM Persons

Select the most appropriate data structure to implement the storage of the addresses of web pages
visited in last one month in & Web Browser for the operation of " History™ button.

) Queue () Link List
{C} Agray () Stack

. Whatis the correei HITML Tor referring to an external style sheet 7

{A) <linkrel ="slylesheet" type="text'css" bre="mystvic.cas™>
{B) <stylesrc="mystylecss"=>

{C) <eternal>mystyle.css<oxtomal>

{0} <stylesheet=mysryle.cas</srylesheet>

Which of the following statements is false ?

{A) Data dictionary is also known as system catalog

(W The information stored in data dicionary is called nwcta data

() Duata dictionary is a centralized store of information about the database

(1) Diata dictionany stores information contained invarious tables of the database

Bup means :

tA) A logical crror in a program

(B) Adifficull syntax error in aprogram

(C) Documenting programs using ancfficient documentation tool

(1) Al of the abowve

Compuder Scienca’ B804
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46. Find the closest number of comparisons using binary search method required to search 1000 in array
A=(19, 25, 30, 35, 37, 45, 52, 69, 900}
(A 4 By 9
{C) 0 (D) Binary Search cannot be performed

47, ASCIl codeisn;
{A) Fourbit code {B) Fivebitcode
(C) Sevenbitcode (D} Eight bit code

4%, 1M the ASCIH code far "A" s 0100 0001, what i the ASCI code for "G" 7
(A) 0100 1000 By 01000111
(Cy 0011 0101 (M) 11001011

49, Which of the following is not a type of constructor ?
(A) Copy constructor (B) Friend constructor
(C) Default constructor (D) Pammeterized constructor

50. Which of the following concepts means “determining at runtime what method to invoke™ ?
(A} Datnhiding (B) Dynmmic Typing
(C) Dynamic binding (1) Dyrumic loading

51. Theoutput of an AND gate with three inputs, A, B, and C, is HIGH when .

Ay-A=ly B=l, L= B A=0-B=06 C=0

B)A=1 B=l Cwi gy A= BN G=]
52. The output of n NOR gate is HIGH if .

(A) Al inputs are HIGH (B)  Anyinput is HIGH

(C) AnyinputisLOW (1) All inputs are LOW

53. Which of the following expressions Is in the sum-of-products (SOF) form 7

(A) (A+BYC+D) (B) (A)B(CD)
(C) AB(CD) D) AB+CD
Computer Scicnce/BIL-B55-A E:D
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A T+ program contains the following declaration :
int x[8] = {10, 20, 30, 40, 50, 60, 70, 80};
What is the meaning of (*x+2) 7
(A} Memory Address of 3rd Elemont W 12
(Cy 22 M 32

Write array declaration statements for an array of integers with 6 rows and 10 columns :

(A) Array name [6]|10] (B) Amay name [S][9]
(C) Armay namef][10] (D) Amay namel6][]

The feature of object oricnted prograns in which a specific class of ohiccts receives the featurvs of a

more general class deseribes :

(A) Inheritance {B) Polvmorphism

(L) Encapsulation (DY Data Hiding

AfAn is a Ct+ class member function that is automatically executed when 3
class object goes out of scope.

(A} Constructor {B)} Destructor

(€) Poimer (D) Operator

Which C++ identifier Is not correct ?
(A) Rt (B) Wrong
(O3 atest Dy test

Thefunction fopen(” flename", "r") returns 7

(A) Nothing

(B) Avaluedor | depending on whether the file could be opened or not
(C} A pointerto FILE Glename, ifit exists

(D} A pointer to a new file after creating it

Bandwidth affects the rate of : /
{A) Transferof data {B) Processing of data
()  Analysizof data {13 Al ofthe above

Cornputer Science’BIL-865-4 L
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